
=LPDB����

3RPLHV]F]HQLH�5R]NãDG���$�����.20387(52:$��7\J������

�������������7\J��������
��

7HFKQRORJLD
LQIRUPDF\MQD��ODE��GU
0DMJLHU�5HQDWD�$����
.20387(52:$����'�
/����/�

�������������7\J��������
����

7HFKQRORJLD
LQIRUPDF\MQD��ODE��GU
KDE��*ROLV�(GPXQG�$�
����.20387(52:$��
��'�/����/�

�������������7\G]���

GU�KDE��0DQGRZVND�(ZD��SURI�
8-'� $�����.20387(52:$

SR
QL

HG
]L

Dã
HN

�������������7\J�����

6SHNWURVNRSLD�PROHNXODUQD�GU�KDE��0RU]\N�2FLHSD
%DUEDUD��SURI��8-'�$�����.20387(52:$����&�
0����/

�������������7\J����

%LRLQIRUPDW\ND�GU
%HUGRZVND�$JQLHV]ND�$
�����.20387(52:$�
���%�0����/

�������������7\J������
�����

:L]XDOL]DFMD�GDQ\FK�PJ
U�LQĪ��'RPDĔVND�.LQJD�$
�����.20387(52:$
�7\J�������$%������7\J
����������������0�,���
/

�������������7\J�����

GU�.XáDJD�=ELJQLHZ�$����
.20387(52:$

�������������7\J������
�����

%H]SLHF]HĔVWZR
LQIRUPDFML�PJU�LQĪ�
%áDV]F]Hü�3LRWU�$����
.20387(52:$����,%�
,����/

Z
WR

UH
N

�������������7\J����

7HFKQRORJLH
LQIRUPDF\MQH��üZ��.OX]LD
N�.DUROLQD�$����
.20387(52:$����%�
/����:DU�

�������������7\J�����

7HFKQRORJLD
LQIRUPDF\MQD��ODE��GU
KDE��0DQGRZVND�(ZD�
SURI��8-'�$����
.20387(52:$����'�
/����/�

ĤU
RG

D

�������������7\J����

7HFKQRORJLD
LQIRUPDF\MQD��ODE��GU
KDE��0LJDOVND�=DODV
$QQD�$����
.20387(52:$����&�
/����/

�������������7\J������

7HFKQRORJLD�LQIRUPDF\MQD��ODE��GU
KDE��0LJDOVND�=DODV�$QQD�$����
.20387(52:$����&�/����/

������
�������7\J
����

6WDW\VW\ND
GOD
SU]\URGQLN
yZ� GU
%HUGRZVND
$JQLHV]ND�
$����
.20387(
52:$���
�%�/����/

�������������7\J�����

6WDW\VW\ND�GOD
SU]\URGQLNyZ�GU
%HUGRZVND�$JQLHV]ND�$
�����.20387(52:$�
���%�/����/

�������������7\J���������

7HFKQLNL�LQIRUPDW\F]QH�Z�]DU]ąG]DQLX
EH]SLHF]HĔVWZHP�SUDF\��ODE��GU�3UDX]QHU
7RPDV]�$�����.20387(52:$����,%�,�
���=%�/

F]
Z

DU
WH

N

�������������7\G]��

7HFKQRORJLD�LQIRUPDF\MQD��ODE��GU�KDE��0LJDOVND�
=DODV�$QQD�$�����.20387(52:$����'�/����/�

�������������7\J������

7HFKQRORJLD�LQIRUPDF\MQD��ODE��GU�KDE��0LJDOVND�
=DODV�$QQD�$�����.20387(52:$����'�/����/�

SL
ĈW

HN

�������������7\G]��

7HFKQRORJLD�LQIRUPDF\MQD��ODE��6NRF]
\ODV�.DPLO�$�����.20387(52:$��
��'�5����/�

�������������7\G]��

7HFKQRORJLD�LQIRUPDF\MQD��ODE��6NRF]
\ODV�.DPLO�$�����.20387(52:$��
��'�5����/�VR

ER
WD

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

3RPLHV]F]HQLH�5R]NãDG���$�����.20387(52:$��7\J������

�������������7\G]���

7HFKQRORJLD�LQIRUPDF\MQD��ODE��6NRF]
\ODV�.DPLO�$�����.20387(52:$��
��'�5����/�

1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


